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Ableitungen :
fl@) = f(z)

Konstante : — 0
r — 1
P = 2
3 = 322
Potenzregel fiir jedes n: " = na"?
mxr+b — m
ar’ +br +¢ = 2ar+0b
konstanter Summand : flx)+c = f'(z)
Summenregel : f(x)+g(x) = [fl(z)+d(x)
konstanter Faktor : c- flz) = c- fl(x)
1 1 1
VIr=z? — NG =5t
1 a 1
Var +b= (ax +b)? — SNTE i(ax—l—b)
e’ — €
Q0D 0D
Produktregel : f(z)-glx) = fl(x)-g(x)+ f(z)- ¢ ()
Quotientenregel : M — f/(x) g(x) — f(x) .g,(x)
g9(x) lg(2)]?
Kettenregel - flg(x)) = fl(g(2)) ' (z)
re'* = e'4uze" = (v +1)e"
2ee” " = 2e "+ 2x(—1)e " =
Inz = 1
. x
sinr =—> cosx
cosr = —sinx
sin (ax +b) = acos (ax + b)
rsinrx —> sinx + xrcoszx



